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47152 Ful) = (2] "el) x ()
= 78.5x 15 = 1177.5(cm?)
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(E52 2¥He Ho])=2x2x3.14 = 12.56( cm?)
(B59 H1])=12.56 x 5 = 62.8(cm?)
lem?® = 1mL °]|B2 9] &2 62.8mL YUt}
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8. 1ol WAz BhE U/ Aol FehAe.
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[> ®=h: 379.94 cm?

(FHol)= 11 x 3.14 x 11 = 379.94( cm?)
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62.8 x 15 & AAtstA HYtt.

62.8 x 15 = 942( cm?)
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D)12ecm @ 9em ® 8cm @ 6cm ® 4cm
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942 + (5 x 5 x 3.14) = 12(cm) 7F BYth




171

o
A

O
)

11. o

=4yt

4

olJ
B8

PA =%

@-

il d

olJ

5

WO
Ze
)
T r o
%Hfm@
T T
5 ol W
B %o [
WM A4 %A BH
00O

Ao B2 FHdYH




12. o 97159 AAEE B, BHelE F5HAL.

i%B cm

o] Wol)=3 x 3 x 3.14 = 28.26(cm?)
o] Wol)= (3x2x 3.14) x 9 = 169.56(cm?)
Y o])= 28.26 x 2 + 169.56 = 226.08(cm?)
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9 %7]

(FHol) = (BHo)) - (20 Hol) x2
=052752-7TXT7Tx3.14%x2
= 527.52 — 307.72 = 219.8( cm?)
(24el) = (87) x (&)
219.8 = 7x 2 x 3.14x (&°])
(=°]) = 219.8 + 43.96 = 5(cm)




14. 9715 2o 2 471 58 AFo]2 £ol2|1 3
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(B Yol)=5x5x3.14 = 78.5( cm?)
(FHO] Ho])=10x 3.14 x 6 = 188.4( cm?)
(B4¥lol) = (B9 Hol)x2+ (F9 9] HWol)

= (
= 78.5X 2 + 188.4 = 345.4( cm?)
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7152 H3)5 T2,
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\\12,560111/ \

O

® 100.48cm? @ 105.76cm? ® 116.28cm?
@125.60m3 ® 150.76cm?

o] Zo])=12.56 + 3.14 + 2 = 2(cm)
7159 #1)=2x2x3.14 x 10 = 125.6(cm?)
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(50 x 2% 3.14) x4 + 120 x 2

= 1256 + 240 = 1496( cm)
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(AgmA 2] 2u)- (A E2] Zo]7t sem 9 97159
=10x10x12-5x5x3.14x 12

= 1200 — 942

= 258(cm?)
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20. thew e QG Hae
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A2k 1 818 A71E Sol ¥l 97)%50] s L
"Ry Yol)

=(9%x9x%x3.14) - (3x3x3.14)

= 254.34 — 28.26 = 226.08( cm?)

(HP2 9759 Gr o] Hol)

=18 x3.14 x 5 = 282.6( cm?)

(@F 97152 gAY Yol

= 6x3.14 x5 = 94.2( cm?)

(B4ol)

= 226.08 X 2 4 282.6 4 94.2

= 828.96( cm?)




